

[illegible]

$$\begin{pmatrix} () \\ () \end{pmatrix} \quad () \quad ()$$

$$()$$

$$\begin{pmatrix} () \\ (+) \end{pmatrix} \quad \begin{pmatrix} () \\ () \end{pmatrix}$$

:

:

:

$$\begin{array}{rcl} - & () & () - \\ - & () & () - \\ - & () & () - \end{array}$$

:

$$\begin{array}{rcl} - & () & () - \\ - & () & () - \\ - & () & () - \end{array}$$

:

$$()$$

)

$$()$$

$$.(-)$$

$$($$

=

:

=

$$() =$$

$$=() + -$$

$$.() =$$

$$=() + -$$

$$()$$

=

)

$$()$$

$$.()$$

$$()$$

$$()$$

$$($$

$$\begin{pmatrix} (+) \\ () \end{pmatrix}$$

$$()$$

$$\begin{pmatrix} (+) \\ () \end{pmatrix}$$

$$()$$

$$.()$$

()

.

-:

" "

$$= \div (+)$$

$$= \div (+)$$

=

$$\div \frac{(\quad)}{(+)} (\quad)$$

()

$$\frac{(\quad)}{\div (+)} \frac{(\quad)}{(+)}$$

.

-:

()

$$\begin{aligned} & \frac{(\quad)}{(\quad)} \cdot (\quad) \quad (\quad) \quad (\quad) \quad \frac{(\quad)}{(\quad)} \\ & = \div \frac{(\quad)}{(+)} : \frac{(\quad)}{(\quad)} \\ & \quad \cdot (\quad) \end{aligned}$$

-

$$\frac{(\quad)}{-} \frac{(\quad)}{(\quad)}$$

.

$$\begin{aligned} & \cdot (-) (-) : \quad (\quad) \\ &) \quad \frac{(\quad)}{(\quad)} \quad (\quad) \end{aligned}$$

" "

$$\frac{(\quad)}{\cdot (\quad)} \quad (\quad)$$

" "

· ()

-:

.

$$\frac{(\quad)}{(\quad)} \frac{(\quad)}{(\quad)}$$

" "

()

()

- :

$$\begin{aligned} &) \quad (\quad) \quad (\quad \times) \quad (\quad \times) \quad (\quad) \\ & (\quad) \quad (\quad \times) \quad (\quad) \end{aligned}$$

$$\frac{(\quad)}{(\quad)} \quad (\quad) \quad (\quad \times)$$

$$\cdot (\quad \times)$$

-:

$$(+) = \times =$$

$$(+) = \times =$$

" "

-:

<http://www.fiseb.com>